THE GIANT ALGEBRA I EOC REVIEW!!!
Property of: ________________________
***Worth 100 points completed!***
Topics covered in this review:

1)  Solving equations and simplifying expressions

2)  Solving inequalities

3)  Finding the slope of a linear function  

4)  Graphing linear functions

5)  Writing equations of linear functions

6)  Solving systems of equations

7)  Simplifying problems with exponents

8)  Polynomials 

9)  Quadratic Functions

10)  Comparing functions

11)  Data and Probability
Section #1:  Equations and Expressions
1)  Simplify the expression:  
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2)  Solve the equation.
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3)  What is the solution of the equation?  
[image: image3.wmf]5

3

1

4

)

3

(

3

1

+

=

-

x

x

 


a) 
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b)  -2
c)  1



d) 
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4)  Ben bought 7 notebooks for $34.50.  Some of the notebooks were $3.50 each and the others were $4.25 each.  If x represents the number of least expensive notebooks, which equation can be used to find the number of least expensive notebooks purchased?


a)  $7.75(7 – x) = $34.50


b)  $3.50(x – 7) + 4.25x = $34.50

c)  $3.50x + $4.25(8 – x) = $34.50
d)  $3.50x + $4.25(x – 8) = $34.50

-----------------------------------------------------------------------------------------------------------------------------------------

HOMEWORK PRACTICE (Answers in the back of the review packet)

5)  Simplify the expressions:

A)  
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B)  
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6)  Find the solution to each equation.


A)  4(2x – 1) = -3x + 32



B)  
[image: image8.wmf]57

7

3

1

=

-

x


7)  A gardener determines the cost of planting daffodil bulbs to be $2.40 per square foot.  How much will it cost to plant daffodil bulbs in a rectangular garden that is 12 feet long and 5 feet wide?  

a) $40.80


b)  $60

c) $81.60


d) $144

Section 2: Solving Inequalities

8)  Solve and graph the inequality:  
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9)  Solve and graph the inequality:  -32 < 3x – 5 < 13

10)  Which of the following is NOT a solution to the inequality?  



-2(x – 4) < -46

a)  27


b) 29
c)  -27


d) 50
11)  You make picture frames to sell at the flea market; you spent $46 on supplies and you want to sell the frames for $8.50 each.  How many frames would you need to sell in order to make a profit?
-----------------------------------------------------------------------------------------------------------------------------------------
HOMEWORK PRACTICE (Answers in the back of the review packet.)

12)  Solve and graph each inequality.


A)  -5x – 2 > -12




B)  -3 < ½x – 5 < 12

C)  2(y + 3) < 18




D)  ¼x – 7 > -15

13)  Which inequality can represent the situation?

“You are saving money for a summer camp that costs $1800.  You have saved $500 so far and you have 14 more weeks to save the total amount.”

a)  500m + 14 > 1800 

b)  500m + 14 < 1800

c)  500 + 14m < 1800

d)  500 + 14m > 1800
Section 3: Slope of a Linear Function      
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14)  Find the slope of the line that goes through the points (2, -5) and (3, -2).

15)  Identify the slope of each linear function.

A)  y= -3x + 2




B)  -4x – 3y = 6

16)  The graph below represents the total cost, y, of parking for x amount of hours.  
[image: image76.wmf]50

50

2

+

=

p

C


[image: image77.wmf]p

C

50

=

[image: image11.emf]
[image: image78.wmf]p

C

50

50

+

=


-----------------------------------------------------------------------------------------------------------------------------------------
HOMEWORK PRACTICE (Answers in the back of the review packet)
17)  What is the value of y for the line that has a slope of 1 and goes through the points (-4, y) and 
(-2, 8)?

a)  12


b)  6

c)  -6


d)  1
18)  Identify the slope of each line.


A)  y= ¾x 




B)  5x – 10y = 20

19)  The graph of the line y=2x – 3 is shown below.  If the slope of the line is doubled, the new equation is y= 4x – 3.  Which is a correct comparison of the two lines?
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Section 4:  Graphing Linear Functions

Slope-Intercept Form: 
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Standard Form:  Ax + By = C

Point-Slope Form:  
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Graph each linear function on the coordinate plane provided.
20)  y= -2x + 1 





21)  3x – 5y = 15

[image: image15.png]






[image: image16.png]





-----------------------------------------------------------------------------------------------------------------------------------------

HOMEWORK PRACTICE (Answers in the back of the test booklet)

Graph each linear function.
22)  y= -½x






23)  -2x + 3y = 6 
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Secion 5:  Writing Equations of Lines

Slope-Intercept Form: 
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Standard Form:  Ax + By = C

Point-Slope Form:  
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24)  What are the slope and y-intercept of the line that goes through the points (-3, 2) and (-2, 0)?
25)  Which equation matches the graph shown?
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26)  The table below shows the cost of buying tickets to an amusement park for different numbers of people.  Which equation can be used to determine the cost, C, for p number of people going to the amusement park.

	People
	4
	6
	8

	Cost
	250
	350
	450


-----------------------------------------------------------------------------------------------------------------------------------------
HOMEWORK PRACTICE (Answers in the back of the review packet)
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Section 6:  Systems of Equations
29)  What is the solution of the system of equations?



y= 2x – 3 


4x – 3y = 31
A)  (-11, -25)

B)  (-11, -19)

C)  (11, 19)

D)  (14, 25)

30)  What is the solution of the system of equations shown?
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-----------------------------------------------------------------------------------------------------------------------------------------
HOMEWORK PRACTICE (Answers in the back of the review packet)
31) What is the solution of the system of equations?



y= 3x – 1 


-4x + 2y = 2

A)  (5, 2)

B)  (-2, -5)

C)  (1, 2)

D)  (2, 5)

32)  What is the solution of the system of equations shown?
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Section 7:  Exponents

When you multiply powers, _______ the exponents.

When you divide powers, _____________ the exponents.

When you raise a power to a power, _____________ the exponents.

Anything to the zero power equals _____.

When you have a negative exponent, __________ it and make it ________________.

33)  What is the simplified form of the expression?
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-----------------------------------------------------------------------------------------------------------------------------------------

HOMEWORK PRACTICE (Answers in the back of the review packet)
34)  Simplify the expression 
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35)  Simplify the expression 
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 EMBED Equation.3  [image: image32.wmf]3
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Section 8:  Polynomials

36)  What is the product of the following expression?
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d)  
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37)  What is the product of the expression (3x – 2)(5x + 1)?

38)  Major League Baseball is divided into the National League and American League.  From 

1995 – 2001, the attendance N and A (in thousands) at National and American League games can be modeled by

N= 
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where t is the number of years since 1995.  About how many total people attended Major League Baseball games in 2001?
39)  Which of these shows the following expression factored completely?





[image: image40.wmf]36

15

6

2

-

+

x

x


A)  (2x – 3)(x + 4)

B)  (6x + 9)(x – 4)

C)  3(2x – 3)(x + 4)

D)  3(2x + 3)(x – 4)

-----------------------------------------------------------------------------------------------------------------------------------------

HOMEWORK PRACTICE (Answers in the back of the review packet)


41)  Find the product of each expression 
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42)  Write a polynomial that represents the area of a rectangle with side lengths of 7x – 2 and 3x – 5.
43)  Factor each expression completely.


A)  
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Section 9: Quadratic Functions

Axis of Symmetry:  
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Quadratic Formula: 
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44)  What would happen to the graph of 
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45)  The parabolic path of a basketball being shot into a hoop can be modeled by the equation 
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, where x represents the amount of elapsed time, in seconds, and y represents the height of the ball, in meters.  

A)  How many seconds does it take for the ball to reach its highest point?


B)  What is the maximum height that the ball reaches?


C)  How high is the ball after 3.1 seconds? 


D)  How long does it take the ball to reach a height of 15 meters?
-----------------------------------------------------------------------------------------------------------------------------------------

HOMEWORK PRACTICE (Answers in the back of the review packet)

46)  What would happen to the graph of 
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47)  A bridge is supported by parabolic arches that go below the water level.  The structure of the bridge arches can be modeled by the function 
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, where x is the width of the arch, in kilometers, and y is the depth of the arch, in meters, relative to the water level.  
A)  What is the width of the bridge at the arch’s deepest point?

B) How far below the water level is the arch at its lowest point?

C) What is the width of the bridge when the arch has a depth of -15 meters?
Section 10:  Comparing Functions

48) Which function is represented by the following ordered pairs: (-2, 6), (-1, 3), (0, 2), (1, 3), (2, 6)?

A)  
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B) 
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D) 
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49)  Which equation BEST represents the graph shown below?

[image: image56.emf]
50)  What type of function is represented by the table?

	x
	3
	4
	5
	6
	7

	y
	-1
	-3
	-5
	-7
	-9


A)  Linear


B) Quadratic


C)  Exponential

D)  Absolute Value

-----------------------------------------------------------------------------------------------------------------------------------------

HOMEWORK PRACTICE (Answers in the back of the review packet)
51)  Which function is represented by the table?
	x
	-1
	0
	1
	2
	3

	y
	⅓
	1
	3
	9
	27


A)  y= x + 2




B)  
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52)  What type of function is represented by the following ordered pairs?  


(2, 4), (3, 1), (4, -2), (5, -5), (6, -8)

A)  Linear



B)  Quadratic




C)  Exponential


D)  Absolute Value

Section 11:  Data & Probability
53)  At a miniature golf course, a bucket contains 18 green golf balls, 14 blue golf balls, 20 pink golf balls, and 8 black golf balls.  If Jimmy randomly selects a golf ball, what is the probability that he will select a golf ball that is not black?

a) 
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54)  The diagram shows the outcomes of flipping a coin and rolling a die.  Which statement regarding the diagram is false?

[image: image64.emf]
55)  What is the mode of the data displayed below?
[image: image65.emf]
56)  A survey was administered to 500 high school students to determine the type of music they prefer. The survey indicated that 22% prefer rock, 26% prefer hip hop, 29% prefer pop, and 23% selected

“other.” Which representation best illustrates the number of students preferring each type of music?

[image: image66.emf]
57)  The test scores for 8 students taking an Algebra I test are as follows:  56, 92, 78, 64, 85, 83, 91, 77.  What would the 9th student have to get on her test in order for the mean test score to be 78%?
Answers to Homework Practice
5)  A)  51     B)  4.5 (or 4 ½) 


6) A)  x= 3.27   B)  x= 192
7)  d) $144





12) A)  x < 2    B) 4 < x < 34   C) y < 6   D)  x > -32
13)  d)  500 + 14m > 1800



17)  b) y= 6
18) A)  m= ¾    B)  m= ½ 



19)  d) 
22)






23)
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27)  c)  y= ½x + 3 




28)  y= 45x + 65
31)  d) (2, 5)





32)  c) (1, 6)
34)  
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40) P= 
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41) 
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42)  A=
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43)  A)  2(x – 3)(x – 4)    B)  (2x + 1)(x – 3)
46)  Shift up 4


47)  A)  3 km

B)  19 meters below water (-19)

C)  1.58 km & 4.43 km
51)  c)  
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52)  a)  Linear

53)  d)  
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54)  a) 

55)  14 & 48





56)  b) 

57)  76%
A)  What is the slope of the line shown? 








B)  What does the slope represent in this situation?  


_____________________________________________________________________________________________________________________________________________________________________________________________________________





Total Cost (dollars)





Time (hours)





a)  The x-intercept and y-intercept change





b)  The x-intercept and y-intercept stay the same





c)  The x-intercept stays the same and the y-intercept changes





d)  The x-intercept changes and the y-intercept stays the same.





A)  y= -4x + 1


B)  y= 4x – 1 


C)  y= ¼x – 1 


D)  y= -¼ + 1





a)  � EMBED Equation.3  ���		


b)  � EMBED Equation.3  ���





c)  � EMBED Equation.3  ���	





d)  � EMBED Equation.3  ���





28) To join Iron Pump gym, members pay $45 per month.  Ms. Curran has been a member of the gym for 3 months, and pays $200 for her membership.  Write an equation that gives the total cost of the gym membership as a function of months.





27)  Which equation can be used to represent the graph shown below?





A)  y= ½x – 3 


B)  y= 2x + 3


C)  y= ½x + 3


D)  y= -½x + 4 





A)  (4, 2)


B)  (2, 4) 


C)  (0, 3) 


D)  (0, 5)





A)  (1, 3)


B)  (6, 2) 


C)  (1, 6) 


D)  (0, 8)





40)  Write a polynomial that represents the perimeter of the triangle.








			     � EMBED Equation.3  ���


     x + 3








     � EMBED Equation.3  ���








A)  � EMBED Equation.3  ���		B)  y = x + 4	








C)  � EMBED Equation.3  ���		D)  � EMBED Equation.3  ���	





a) The probability of obtaining “H6” is 2 out of 12. b) There are 12 possible outcomes in the sample space. 


c) The chance of fl ipping “heads” and rolling a “5” is 1 in 12. 


d) Flipping “tails” and rolling a “2” represents about 8% of the possible outcomes of the sample space.
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